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Query : Sir, there is a minor error in your PPT presentation of the answer.

While taking the Product Mix Ratio of Product 'Q' & 'N' you wrongly mentioned it as 9 : 12.
The correct ratio is 9 : 18 i.e. 9,000 units and 18,000 units i.e. 1 : 2.

However, while solving the equation you correctly solved it taking the ratioas 1 : 2

Hence, the final answer is correct.

Solution :

Yes, your observation is correct.

It shows that you are studying the subject very carefully. Congratulations !

There was an error while typing in the PPT presentation.

However, on calculator I had done is correctly and hence the final answer is correct.

Keep up this habit of careful observation ! Very few people have this ability.
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